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01 QI X2 AL E A (KEMITHE) 20,000 20,000 0
O R+=3=E03 243 NI
20,000,000 *2JH 2~+50/100 20,000
sEN= X |4 26,560 66,560 40,000
206 MH=H| 9,600 9,600 0
01 M=4l 9,600 9,600 0
O SY¥s sENEXR US2Y Mat]
20,0002 *30 * 162 9,600
301 LELEE S 16,960 16,960
11 dALEEIXIRE S 16,960 16,960
O S8HS sEAEA #dus AL &
2y 700,000 *169H 2~ 11,200
O Stis sEXNEA HHuE LA+
120,000 x 162 1,920
O S8s sENTA WS F44 dU2d
8,000&+30& ~ 162 3,840
sgol 2R = K& 69,000 87,200 /18,200
= 17,010
Al 51,990
201 Ler23| 38,100 42,600 24,500
= 7,710
Al 30,390
01 AtR2t2lHI 38,100 42,600 A4,500
O sEXNEA H2X 33
60,0003 +520H 31,200
== 6,240
Al 24,960
O 4H 82X 32 30,0003 * 170= 5,100
= 1,020
Al 4,080
O 4H WS e Sz
600,000 *32] 1,800
=S 450
Al 1,350
206 M=l 800 0 800
< 200
Al 600
01 MHZH| 800 0 800
O gl 4H3| UHMES M= 7Y
200,000 45 800
= 200
Al 600
301 EetE NS 15,700 18,600 22,900
== 5,050
Al 10,650
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08 212+01=22l o4t 6,400 6,400 0
O SEEAY R4Sl ALK/
2,000,000 * 4&*80/100 6,400
= 2,400
Al 4,000
11 #AIAHIXIE S 9,300 12,200 22,900
O 4Hgl BNEs 2A=E 2 AHIXIH
200,000 *92] 1,800
< 450
Al 1,350
O sgost&ex (4Hal)adst X
3,250,000& 3,250
= 975
Al 2,275
O sl 4H3| HNEs X
500,000 <22 1,000
[ 250
Al 750
O =0 SHEHH(MeHe3]) 2535t X1
A 26,0002 %531 %25 3,250
= 975
Al 2,275
307 21201 & 14,400 26,000 211,600
< 4,050
Al 10,350
02 LB HANHEE 14,400 26,000 A11,600
O sEX=XHE 30 & #sX3
5,400,000& 12} 5,400
= 1,350
Al 4,050
O sgossHA JI2HUS SHus
4,500,000& 12 4,500
s 1,350
Al 3,150
O &854H 38 & H0oigs N2
225,000 x200H A 4,500
= 1,350
Al 3,180
sgoltst =24 23,000 26,000 /3,000
= 11,500
Al 11,500
201 fet=3| 5,320 4,600 720
= 2,660
Al 2,660
01 At22t2lt] 5,320 4,600 720
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O BE0ls2ItE o, 208, 292
=i 322,0002 %102 3,220
= 1,610
Al 1,610
O H30lsgoltst S8 Ws e LAt
= 700,000 32 2,100
= 1,050
Al 1,050
206 M=l 2,000 1,800 200
= 1,000
Al 1,000
01 MZH| 2,000 1,800 200
O THElsAOIE AEDS HEPY
400,000 55 2,000
= 1,000
Al 1,000
301 22N = 15,680 19,600 23,920
= 7,840
Al 7,840
11 dALEEIXIZE S 15,680 19,600 23,920
O HS0I=sHOIs 2Atg & AHIE
o 490,000 «2 2t E+163] 15,680
= 7,840
Al 7,840
sll= d2u=s N 15,200 19,000 A3,800
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= 7,600
Al 7,600
01 At22t2lt] 16,200 19,000 /3,800
O Mollsgela2us ull, ¥18 S
12,0002 %1,0005 12,000
= 6,000
Al 6,000
O Molsgeldg8us 8325 78
800,000 *42] 3,200
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Al 1,600
dsgel JIzgs)isls 13,000 20,000 A7,000
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Al 6,500
201 Ler=23 | 6.140 11,180 25,040
= 3,070
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01 A2zt 42,150 42,850 AT00
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4,950,000 * 14 4,950
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O A2 JISEEE 2=MS Al 82
10,000,000 » 14 10,000
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